Phenotype Data Analysis Plots
PhenoData day range = 10 - 48
Analysis cutoff day = 48
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LfA: avg vs. d at each age group
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LfA: model est vs obsOv@Q50

0.040 -

0.035 A

0.030 A

0.025 A

0.020 -

0.015 A

— @50
est

16

18

20

22

age

24

26

28

30
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P10AW LfA: D_15d_LfA
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DeltaTypeAbbr=GrpByAge
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DeltaTypeAbbr=GrpByAge
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LfA: sfDem
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NdD: avg vs. d at each age group
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NdD: model est vs obsOv@Q50
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DeltaTypeAbbr=GrpByAge
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DeltaTypeAbbr=GrpByAge
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DeltaTypeAbbr=GrpByAge
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DeltaTypeAbbr=GrpByAge
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NdD: sfDem
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dStH: avg vs. d
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dStH: obsAvg vs obsOv@Q50
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dStH: D_5d_StH
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dStH: D_Est_StH
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FrV: FrO1 vs FrO5 at each truss
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FrV trend at each age
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FrV: model Est vs obsFrV at Q90
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FrV: obsFrV vs obsFrV@Q90
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FrV: D _Frl FrV
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PLOAW FrV: D_Frl FrVv
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FrV: D_Ts_FrV
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PLOAW FrV: D_Ts_FrV
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FrV: D_Q50 FrVv
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